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Name:_________________________
Assignment: Accelerated Algebra Summer Assignment #1

1
Find the solution to the equation 4 p +   = 7 . Express your answer in lowest terms.

Answer:  p = 

2 Simplify and solve:  12 - 2(x - 5) = 20.

Answer:  x = 

3 Simplify and solve the inequality: −4(x + 2) > 44.

Answer:  x < 

4
Find the solution to the equation: x − 9 =  , expressing x as a mixed number in simplest form.

Answer: x = 

5 Which expression represents the perimeter of this rectangle?

1 2x + 6
2 4x + 12
3 4(x + 6)
4 4x

6



7 Fill in the tM〰〱ਲㄮ〰″〴㔮〰⁔損ਰ⸰〰〰‰⸰〰〰‰⸰‰⸰〰〰‰⸰⁅‰⹏b㍕㑑 the N̊昪ഊ†儭ㄷd⹏M⹏ f r〰〰‰⸰⁅⁆ഊ⁕⁆ൕ㑑.⁅‸s⸰⁅⁄⁅⁆ൄൕ㑆uൕ㑏M⸃r〰い⸰ぇ〰さ⸃u⸰ぇ〰い〰‰⸰⁄⸰ざ昪ൈさ⹖〰〰⁒〰〰‰⸰⁅㌰㔸⸰〰〰⁬ഊ㜹㔮〴㘮〰⁔損ਰ⸰〰〰‰⸰〰〰‰⸰〰〰⁉瑡汩挍ਭ〮㐱㜵㈠呣ഊ‵ㄷ㈵㕌ll in the tM〰〱ਲㄮ〰″〴㔮〰‰㔷㘸⸰〰〰‰儮〠䐰售䠮嘰圃੦⨍䬠到唴儀̀儀堮倀圀䬀唳〵㠮〰〰〠氍਷㤵⸰㐶⸰〠呤ഊ〰〰‰⸰〰〰‰⸰〰〰⁲服ਭ〮㐱㜵㈠呣ഊ‷㄰㈵㕌ll in the tM〰〱ਲㄮ〰″〴㔮〠】㌰㔸⸰〰〰⁬ഊ㜹㔮〴㘮〰⁔損ਰ⸰〰〰‰⸰〰〰‰⸰〰〰⁲服ਠ⠀ᨩ†呪ഊ⁅名ਲ㜲㔵䰀伱㤀̀䰀儀̀圀䬀䠀̀圀〰〰ㄊ㈱⸰〠㌰㐵⸰〠㉔樍ਠ䔰〰〠〵⁄ぇഊ⁘s㌰㔸⸰〰〰⁬ഊ㜹㔮〴㘮〰⁔損ਰ〰〠〮〰〰〠〮〰〰〠牧ഊⴰ⸴ㄷ㔲⁔挍ਠㄸ㜲㔵䰀伱㤀̀䰀儀̀圀䬀䠀̀圀〰〰ㄊ㈱⸰〠㌰㐵⸰‰ᤀᄠᠳ〵㠮〰〰〠氍਷㤵⸰㐶⸰〠呤ഊ〮〰〰〠〮〰〰〠〮〰〰〠牧ഊ 7⤠⁔樍ਠ䕔ഊ㈷㈵㕌㈹㠳 in the tM〰〱ਲㄮ〰″〴㔮〰‱㈹ㄴ⁅〰〰‰✍ਠ䐮倀䠰圃䬀唳〵㠮〰〰〠氍਷㤵⸰㐶⸀圀䬀䠀̀圀〰〰ㄊ㈱⸰〠㌰㐵⸱〰〠㌸㜸⸲㤹⸰〰〰′㠹〲㔶〠㌸㜸⸲㤹⸰〰〰′氹〲㔶〠㌸㜸⸲㤹੗ഊ渍ਠ焍਱〰〠㌸㜸⸲㤹੗ഊ渍ਠ焍਱〰〠㌸㜸⸲㤹〰〠㌰㔸⸰〰〰⁬ഊ㜹㔮〴㘮the tM〰〱ਲㄮ〰″〴㔮㄰〰″㠷㠮㈹〰〰‰⸰〰〰㈵㘰″㠷㠮㈹ਠ焍ੱഊ䉔ഊ㈵㘰″㠷㠮㈹ਮ〰〰〠㌰〷⸰〰″㠷㠮㈹〮〰〰〠㌰〷⸰〰″㠷㠮㈹〠㌸㜸⸰〰〰⁬ഠ氍਷㤵⸰㐶⸀圀䬀䠀̀圀〰〰ㄊ㈱⸰〠㌰㐵⸱〰〠㌸㜸⸲㤹⸰〰〰′㠹〱㐳〠㌸㜸⸲㤹⸰〰〰′氹〱㐳〠㌸㜸⸲㤊⸰〰〰″〰㜮〰〠㌸㜸⸲㤰⸰〰〰″〰㜮〰〠㌸㜸⸲㤹〰〠㌰㔸⸰〰〰⁬ഊ㜹㔮〴㘮the tM〰〱ਲㄮ〰″〴㔮〰‰″㠷㠮㈹㤮〰〰〠㈸㤰㈵㘰″㠷㠮㈹㤮〰〰〠㉬㤰㈵㘰″㠷㠮㈹〮〰〰〠㌰〷〰‰″㠷㠮㈹〮〰〰〠㌰〷〰‰″㠷㠮㈹㤰〰″〵㠮〰〰〠氍਷㤵⸰㐶⸰〠呤ഊ〮〰〰〠〮〰〰〠〮〰〰〠牧ഊ 7⤠⁔樍ਠ䕔ഊ㈷㈵㕌㈹ਠ儍ੱഊ′ㄮ〰〰〠㌰㔸⸰〰〰⁭ഊ㜹㔮〰〰″㌷㌳⁅〰〰‰☍ਠ唠䘍堮倀䤍䠰售䠀儀䘀䠳〵㠮〰〰〠氍਷㤵⸰㐶⸀圀䬀䠀̀圀〰〰ㄊ㈱⸰〠㌰㐵⸱〰〠㌸㜸⸲㤶〰〰〠㌰〶⸰㔶〠㌸㜸⸲㤶〰〰〠㌰氹〲㔶〠㌸㜸⸲㤶ㄷ㈵㔠〮ㄷ㈵〰〠㌸㜸⸲㤶ㄷ㈵㔠〮ㄷ㈵〰〠㌸㜸⸲㤶〰″〴㈮〰〰〠洍ਲ㈮〰〰〠㌰″〴㈮tM〰〱ਲㄮ〰″〴㔮㄰〰″㠷㠮㈹ㄷ㈵㔠〮㄰㘮〵㘰″㠷㠮㈹ㄷ㈵㔠〮ㄷ㈵㔵㘰″㠷㠮㈹㄰㈵㔠〮ㄷ㈵㄰〰″㠷㠮㈹㄰㈵㔠〮ㄷ㈵㄰〰″㠷㠮㈹ㄷ㈵㔠〮ㄷ㈵〰⁭ഊ㈲⸰〰〰″〠㌰㐲⸀圀〰〰ㄊ㈱⸰〠㌰㐵⸱〰〠㌸㜸⸲㤶〰〰〠㌰〶⸱㐳〠㌸㜸⸲㤶〰″〴㈮〰〱㐳〠㌸㜸⸲㤱〲㔵‰⸱㜲㔱〰〠㌸㜸⸲㤱〲㔵‰⸱㜲㔱〰〠㌸㜸⸲㤶〰″〴㈮〰〰〠洍ਲ㈮〰〰〠㌰″〴㈮tM〰〱ਲㄮ〰″〴㔮〰‰″㠷㠮㈹㘰〰〰″〰㘮〵㘰″㠷㠮㈹㘰〰〰″ぬ㤰㈵㘰″㠷㠮㈹㄰㈵㔠〮ㄷ㈵〰‰″㠷㠮㈹㄰㈵㔠〮ㄷ㈵〰‰″㠷㠮㈹㘰〠㌰㐲⸰〰〰⁭ഊ㈲⸰〰〰‰〠呤ഊ〮〰〰〠〮〰〰〠〮〰〰〠牧ഊ 7⤠⁔樍ਠ䕔ഊ㈷㈵㕌㈹〹 in the tM〰〱ਲㄮ〰″〴㔮〰′㐲㘷⁅〰〰‰␰售䠀䐳〵㠮〰〰〠氍਷㤵⸰㐶⸀圀䬀䠀̀圀〰〰ㄊ㈱⸰〠㌰㐵⸱〰〠㌸㜸⸲㤲‰″㠷㠮〶⸰㔶〠㌸㜸⸲㤲‰″㠷㠮氹〲㔶〠㌸㜸⸲㤲㐰″㠷㠮氹〱〰〠㌸㜸⸲㤲㐰″㠷㠮氹〱〰〠㌸㜸⸲㤲〰〰〠呦ഊ㈱⸰昍ਲ㈮〰〰〠㌰″〴㈮tM〰〱ਲㄮ〰″〴㔮㄰〰″㠷㠮㈹〴〠㌸㜸⸰㘮〵㘰″㠷㠮㈹〴〠㌸㜸⹬㤰〵㘰″㠷㠮㈹〮〰〰〠㈹㌳⸰〰″㠷㠮㈹〮〰〰〠㈹㌳⸰〰″㠷㠮㈹〴〠㌸㜸⹬㤰ㄮてഊ㈲⸰〰〰″〠㌰㐲⸀圀〰〰ㄊ㈱⸰〠㌰㐵⸱〰〠㌸㜸⸲㤲‰″㠷㠮〶⸱㐳〠㌸㜸⸲㤲〰〰〠呦ഊ㈱㐳〠㌸㜸⸲㤰⸰〰〰′㤳㌮〰〠㌸㜸⸲㤰⸰〰〰′㤳㌮〰〠㌸㜸⸲㤲〰〰〠呦ഊ㈱⸰昍ਲ㈮〰〰〠㌰″〴㈮tM〰〱ਲㄮ〰″〴㔮〰‰″㠷㠮㈹㈠〠㌸㜸⸰㘮〵㘰″㠷㠮㈹㈠〠㌸㜸⹬㤰㈵㘰″㠷㠮㈹〮〰〰〠㈹㌳〰‰″㠷㠮㈹〮〰〰〠㈹㌳〰‰″㠷㠮㈹㈰〰〰⁔昍ਲㄮてഊ㈲⸰〰〰〠〮〰〰〠氍ਰ⸰〰〰‰⸰〰〰⁬ഊ栍੗ഊ渍ਠ焍ੱഊ䉔ഊ⽈䉉䑑唫呩浥獎敷副浡湐匭䉯汤䵔‱㘮〰〰〠呦ഊ⸰〠㌰㐶⸷㈵㔠〮ㄷ㈵㔠〮ㄷ㈵㔠〮㄰㐵⹔‱㘮〰〲〰〰〠〮〰〰〠氍੨ഊ圍ਲഊⁱഊ焍ੂ名ਯ䡂䥄兕⭔椲㘰〰〠㌰㔸⸰あ䥄兕⭔椲㘰〰〠㌰㔸⸰あ䥄兕⭔椲㠰″㠷㠮〰〰〠氍⁬ഊ㜹㔮〰〰‰⸰〰〰⁬ഊ〮〰〰〠〮〰〰〠氍੨ഊ圍੮ഊⁱഊ焍ੂ名ਯ䡂䥄兕⭔業敳乥睒潭慮偓ⵂ潬摍吠ㄶ⸰〰〰⁔昍ਮ〰″〴㘮〰⁔損ਰ⸰〰〰‰⸰〰〰‰⸰〰〰⁲服ਠ⠀ᨩ†呪ഊ⁅名ਮ⭔椲㠶伀̀䰀儀̀圀䬀䠀̀圀〰〰ㄊ㈱⸰〠㌰㐵⸰‰ᬳ〵㠮〰〰〠氍਷㤵⸰〰〰′㠹㔮〰〰〠氲㠰ㄮ〰〰〠㌲㌴⸰〰〰⁬ല㠰ㄮ〰〰〠氲㌴⸰〰〰⁬ല㘶㐰″㠷㠮氹〰㄰〰〠氍㈶㘴〠㌸㜸⹬㤰ㄮ〰″〴㔮〰⁔損ਰ⸰〰〰‰⸰〰〰‰⸰〰〰⁲服ਭ〮㐱㜵㈠呣ഊ Fi㈸㘴 in the tM〰〱ਲㄮ〰″〴㔮〰⁔㐹ㄸ⸰〰〰‰⠰〠〮䠮〰〰䰮嘰〰倠䐮丠〮〰䨠䔠䐠䔠嘰倠䐮〠〮〠售̀堮〰䜰〰䔍ਠ唠〠〮䜮伀尠䔠䘍䐍临儀̀䤀̀唰〰䬍䠰售̀儀䰍䠰䘴儀ᄠ䔠Ⰰ䤀䔠嘰〮〠䔠娠䐮〰圮嘰〰〠到〰匀堮圠䔠䐠䔠䘍ਠ唠䘍堮传䐰售〰匀䰠䘍圍堮售〠䔠刀䤀䔠䬍䠰售̀䤠䐰夀̀唰䰰圃䬀䔠䘍䬠䐰售䐠䘍圍䠰售〮̀〰〰〠〮〳〵㠮〰〰〠氍਷㤵⸰㐶⸰〠呤ഊ〰〰‰⸰〰〰‰⸰〰〰⁲服ਭ〮㐱㜵㈠呣ഊ Fi㈸㐸 in the tM〰〱ਲㄮ〰″〴㔮〰⁔㤶ㄳ⁅〰〰‰倀〮䜮䜮〮䠮ༀ䔠䬍̀㄃੦倍堮䙑ⴱ㜀刀䤀䔠〠〮〠䔠〮到匀㜀刀䤀䔠〠〮〠䔠䘍䐍临儀̀娰〰〠〮〠䔴儀〮̀䠮䤮圠䔠䤀̀唰〰䰠䘍ਠ〰䨠∳〵㠮〰〰〠氍਷㤵⸰〰〰′㠹′㠹㔮〰〰〠氲㠰ㄮ〰〰〠㌲㌴⸰〰〰⁬ല㠰ㄮ〰〰〠氲㌴⸰〰〰⁬ല㘶㐰″㠷㠮氹〰㄰〰〠氍㈶㘴〠㌸㜸⹬㤰ㄮ〰″〴㔮〰‱㌊㈱⸰〠〱ਲㄮ〰‰ㄊ㈱⸰〠〱ㄳㄲㄮ〰‰ㄲㄲㄮ〰‰ㄲ㜱ㄲㄮ〰‰ㄠ捭ഊ㜹⽗湶偤晟扡杭捪橮橪楬武桫慨普灢敥扫灤捡慯⁄漠氍਷㤵⸰〰〰′㠹㔮〰〰〠氲㠰ㄮ〰〰〠㌲㌴⸰〰〰⁬ല㠰ㄮ〰〰〠氲㌴⸰〰〰⁬ല㘶㐰″㠷㠮氹〰㄰〰〠氍㈶㘴〠㌸㜸⹬㤰ㄮ〰″〴㔮〰⁔損ਰ⸰〰〰‰⸰〰〰‰⸰〰〰⁲服ਭ〮㐱㜵㈠呣ഊ Fi㈶㥏 in the tM〰〱ਲㄮ〰″〴㔮〰″㔳㐰⸰〰〰‰㠀嘮〠䔠䐠䔠䘍䐍唴䘀堍唴伀〮̀唰〰䐮〰䜰〰售̀堮〰䜰〰尠刍堮售〠䐮〰噦⨍䠰售〰〠到〰〠〮〠䔳〵㠮〰〰〠氍਷㤵⸰㐶⸰〠呤ഊ〮〰〰〠〮〰〰〠〮〰〰〠䥴慬楣ഊⴰ⸴ㄷ㔲⁔挍ਠ㌰⸰〰䰲㘹伀̀䰀儀̀圀䬀䠀̀圀〰〰ㄊ㈱⸰〠㌰㐵⸰〠〰‶㜠䔰〰〠け⸰⁄さ⹈⹖し̊晗⹈⸰〰‰㌰㔸⸰〰〰⁬ഊ㜹㔮〴㘮〰⁔損ਰ〰〠〮〰〰〠〮〰〰〠牧ഊⴰ⸴ㄷ㔲⁔挍ਠ㌸㘰〰䰲㘹伀̀䰀儀̀圀䬀䠀̀圀〰〰ㄊ㈱⸰〠㌰㐵⸰〠㐱㔳ਠ䔰〰〠〷ofb⁄⁅⁖ご൘⹄⹕⸰⁅⁆⹈⸰〰⁌⹐eし͋r】㌰㔸⸰〰〰⁬ഊ㜹㔮〴㘮〰⁔損ਰ堰〠〮〰〰〠〮〰〰〠牧ഊⴰ⸴ㄷ㔲⁔挍ਠ⠀⤀䰲㘷㄀̀䰀儀̀圀䬀䠀̀圀〰〰ㄊ㈱⸰〠㌰㐵⸰〠㔲㈰〠䔰〰〠〤〰ざ昪ൈさ⸝⁅ ㌰㔸⸰〰〰⁬ഊ㜹㔮〴㘮the tM〰〱ਲㄮ〰″〴㔮㜰〰″〵㠲㘸⸰〰〰′㠹〱㤳〰″〵㠲㘸⸰〰〰′氹〱㤳〰″〵㠲㘸੗ഊ渍ਠ焍ੱര〠㌰㔸㈶㠊圍੮ഊⁱഊ焍〰″〵㠲㘸〰〠㌰㔸⸰〰〰⁬ഊ㜹㔮〴㘮the tM〰〱ਲㄮ〰″〴㔮焍〰″〵㠲㘶〰〠〮〰〰〱㤳〰″〵㠲㘶੗ഊ渍ਠ焍਱㤳〰″〵㠲㘶ㄮ〰〰〠氲㌴⸰〠㌰㔸㈶㘱⸰〰〰⁬㈳㐮〰″〵㠲㘶″㠷㠮〰〰〠氍⁬ഊ㜹㔮〴㘮the tM〰〱ਲㄮ〰″〴㔮㜰〰″〵㠲㘸⸰〰〰′㠹〸〰〠㌰㔸㈶㠮〰〰〠㉬㤰㠰〰″〵㠲㘶ㄮ〰〰〠氲㌴⸰〠㌰㔸㈶㘱⸰〰〰⁬㈳㐮〰″〵㠲㘸〰〠㌰㔸⸰〰〰⁬ഊ㜹㔮〴㘮the tM〰〱ਲㄮ〰″〴㔮ㄹ㈰〠㌰㔸㈶㠰〰″〵㠸㤰ㄹ㌰〠㌰㔸㈶㠮〰〰〠㉬㤰ㄹ㌰〠㌰㔸㈶㘱⸰〰〰⁬㈳ㄹ㈰〠㌰㔸㈶㘱⸰〰〰⁬㈳ㄹ㈰〠㌰㔸㈶㠰〰″〵㠮〰〰〠氍਷㤵⸰㐶⸰〠呤ഊじ〰‰⸰〰〰‰⸰〰〰⁲服ਭ〮㐱㜵㈠呣ഊ‱㤳〰⁌㈶㜱 in the tM〰〱ਲㄮ〰″〴㔮〰‴〸㠹⁅〰〰‰㜀嘰名堮䐮售〠䔠䘮䠮〰〠䰮倀䠰圃䬀唰嘳〵㠮〰〰〠氍਷㤵⸰〰〰′㠹ਲㄮ〰″㌰〰〰‰⸰〰〰⁬ഊ栍੗ഊ渍ਠ焍ੱഊ䉔ഊ⽈䉉䑑唫呩浥獎敷副浡湐匭䉯汤䵔‱㘮〰〰〠呦ഊ⸰〠㌰㐶⸷㈵㔠〮ㄷ㈵㔠〮ㄷ㈵㔠〮㄰㐵⹔‱㘮〰〲㘲ㄮ〰〰〠㌲㌯䡂䥄兕⭔椲㘍੗ഊ渍ਠ⁑യ䡂䥄兕⭔椲㐍੗ഊ渍ਠ焍ੂ䥄兕⭔椲㐍੗ഊ渍ਠ焍ੂ䥄兕⭔椲㘍੗ഊ渍ਠ⁑ഠ氍⁬ഊ㜹㔮〰〰‰⸰〰〰⁬ഊ〮〰〰〠〮〰〰〠氍੨ഊ圍੮ഊⁱഊ焍ੂ名ਯ䡂䥄兕⭔業敳乥睒潭慮偓ⵂ潬摍吠ㄶ⸰〰〰⁔昍ਮ〰″〴㘮〰⁔損ਰ⸰〰〰‰⸰〰〰‰⸰〰〰⁲服ਠ⠀ᨩ†呪ഊ⁅名ਮ⭔椲㘳㐀̀䰀儀̀圀䬀䠀̀圀〰〰ㄊ㈱⸰〠㌰㐵⸰‰ᰳ〵㠮〰〰〠氍਷㤵⸰〰〰′㠹㔮〰〰〠氲㘴⤠⁔樍ਠ㌲㌴⸰〰〰⁬ല㘴⤠⁔樍ਠ氲㌴⸰〰〰⁬ല㐵⁲服ਲㄮ氹〰㄰〰〠氍㈴㔠牧ഊ㈱⹬㤰ㄮ〰″〴㔮〰⁔損ਰ⸰〰〰‰⸰〰〰‰⸰〰〰⁲服ਭ〮㐱㜵㈠呣ഊ 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23 Which equation is equivalent to 3x+ 4y = 15?

1

2

3 y = 15 - 3x
4 y = 3x - 15

24 The line 3x - 2y = 12 has

1  a slope of   and a y-intercept of -6

2  a slope of -  and a y-intercept of 6

3  a slope of 3 and a y-intercept of -2
4  a slope of -3 and a y-intercept of -6



 



 

 
 
Name ________________________                        Algebra Summer Assignment #2 
 
1.  2.  3.  

4.  5.  6.  

7.  8.  9.  

10.  11.  12.  

 

Answer : ___ cans Answer:  Answer:  ____ ft 

Choice ____  Answer:  ____ days Answer:  ____ sq ft 

Answer:   Answer: ___ cans x = 

x = q =   t  =   



 

 
    

 

 
 

13.  14.  15.  

16.  17.  18.  

19.  20.   

   

Choice ___  Choice ____  Choice ____  

Choice: ___   Choice ____  a =    

Choice ____  Choice ___  
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20 Kylie and Rhoda are solving the equation 4(x − 8) = 7(x − 4).

Kylie uses a first step that results in 4x − 32 = 7x − 28.
Rhoda uses a first step that results in 4x − 8 = 7x − 4.

Which statement about the first steps Kylie and Rhoda use is true?

1 Kylie uses the associative property, resulting in a correct first step.
2 Kylie uses the distributive property, resulting in a correct first step.
3 Rhoda uses the associative property, resulting in a correct first step.
4 Rhoda uses the distributive property, resulting in a correct first step.



 

 
 
Name ________________________                        Algebra Summer Assignment #3 
 
1.  2.  3.  

4.  5.  6.  

7.  8.  9.  

10.  11.  12.  

 

Choice: ____ Answer: ___% Choice: _____ 

Choice ____  Answer:  $_____ 

Choice: ____ Choice: ____ Choice: ___   

Choice: ___   

Choice: ___   

Choice: ___   Choice: ___   



 

 
    

 

 
 

13.  14.  15.  

 

13.



Name:_________________________
Assignment: Accelerated Algebra Summer Assignment #3

Class/Period:______________________

1 Linda paid $48 for a jacket that was on sale for 25% of the original price.  What was the original price of the jacket?

1   $60
2   $72
3   $96
4   $192

2 A 14-gram serving of mayonnaise contains 11 grams of fat. What percent of the mayonnaise, to the nearest tenth of a percent,
is fat?
 
Answer:   %

3 Solve for x: 15x − 3(3x + 4) = 6

1 1

2 − 

3 3

4

4
Solve for x:  

1   8
2   −8
3   3

4   − 

5
Solve for x:   

1   

2   2
3   3
4   4

6 Sue bought a picnic table on sale for 50% off the original price. The store charged her 10% tax and her final cost was $22.00.
What was the original price of the picnic table? 

Answer: $
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12
Stefano purchased a truck for    of the sticker price of $35,670. He had to pay 7.25% sales tax. What was the amount of

Stefano's bill?

1 $42,804.00
2 $32,311.08
3 $31,880.06
4 $29,725.00

13 Your family purchased new living room furniture on credit at the store, which is a simple interest loan. If your family paid



16

The graph above represents the cost of bananas compared to the weight of the bananas for Company A. Company B uses the
equation c = 1.5w to figure out the cost, c, for a certain weight, w, in pounds of bananas.
Select the statement that is true.

1 The unit rate for Company A is greater than the unit rate for Company B.
2 Two pounds of bananas would cost the same at Company A and Company B.
3 Eight pounds of bananas costs no more than $10 at Company A and Company B.
4 Ten pounds of bananas costs more at Company B than at Company A.

17
A recipe for a dozen cookies calls for  c. chocolate chips,  c. sugar, 1  c. flour, and 2 eggs. If Kathy wants to make 4

dozen cookies, which should she use?

1 3 c. chocolate chips, 2 c. sugar, 6 c. flour, 8 eggs
2 6 c. chocolate chips, 1 c. sugar, 3 c. flour, 4 eggs

3 1   c. chocolate chips, 1 c. sugar, 3 c. flour, 4 eggs

4 9 c. chocolate chips, 6 c. sugar, 9 c. flour, 10 eggs



18 Phone company A



 



 

 
 
Name ________________________                        Algebra Summer Assignment #4 
 
1.  2.  3.  

4.  5.  6.  

7.  8.  9.  

10.  11.  12.  

 

Choice: ____ 



 

 
    

 

 
 

13.  14.  15.  

16.  17.  18.  

19.  20.   

   

Choice ____  

Choice: ___   Choice ____  Choice: ___   

Choice ____  

Choice: ___   Choice: ___   

Choice: ___   



Name:_________________________
Assignment: Accelerated Algebra Summer Assignment #4

1 Parallel lines l and m are cut by transversals s and t to form the diagram below.

What is the value of x?

1 58°
2 64°
3 96°
4 116°



2
The rectangle below was dilated by a scale factor of  ..



3 Quadrilateral ABCD is translated so that the coordinates of B′ are (5, 8).

What are the coordinates of D′?

1 (4, 6)
2 (6, 4)
3 (7, 7)
4 (8, 5)

4 If (7.6 × 10n)(3.5 × 103) = 2.66 × 109, what is the value of n?

1 6
2 5
3 3
4 7

5 What are the coordinates of the image of point A (2, -7) under the translation (x, y) → (x - 3, y + 5)?

1 (-1, -2)
2 (-1, 2)
3 (5, -12)
4 (5, 12)

6 The vertices of ∆JKL have coordinates J(5,1), K(-2,-3), and L(-4,1). Under which transformation is the image ∆J’K’L’ not
congruent to ∆JKL?

1 a translation of two units to the right and two units down
2 a counterclockwise rotation of 180 degrees around the origin
3 a reflection over the x-axis
4 a dilation with a scale factor of 2 and centered at the origin



7 Which expression is equivalent to (5-2a3b-4)-1?

1

 

2

-1





10
Which expression is equivalent to  ?

1

2

3 3x4y5

4

11 A recent computer study showed that computer A processes up to 5.12 × 104 bits of data every second. Computer B
processes up to 1.28 × 107 bits of data per second.  How many times faster is computer B than computer A?

1 6.40 × 102

2 2.50 × 102

3 4.00 × 10-3

4 3.84 × 103

12 Which shows (32)−2 in standard form?

1 1
2 −81

3

4 0

13
What is the value of  ?

1

2

3

4



14
Simplify the expression   using only positive exponents.

1

2

3

4

15
The expression   is equivalent to

1 −4w6

2 −4w3y
3 9w6

4 9w3

16 The distance to the Moon from Earth is 5.05 × 108 miles. The distance to the Pluto is 5.05 × 1016 miles. How many times the
distance to the Moon is it to Pluto?

1 108
2 10,000,000
3 109

4 10-8

17 How would you change 2.05 × 10−1 to 2.05 × 10?

1 Multiply by 1,000.
2 Divide by 1,000.
3 Divide by 100.
4 Multiply by 100.



18 In the diagram, transversal   intersects parallel lines   and  , m∠  DGH = x, and m∠  BHG = 2x - 30.

Find the value of x.

1   30
2   50
3   70
4   110

19
Which is a 180° rotation of the figure  ?

1

2

3

4

20 Which expression is equivalent to  ?

1

2 –3x2

3

4 –9x2



 


